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(A/m) | (A/m) | (A/m) | (F/m) (53] (%) (m/A) (FM) (FA)
BEARERH 800 800 1.00 0 91, 452 - - 73,162 73,162
0=10 0 40 = 40 21,723 23.8 814, 668 32,587 0
#| 11=0=20 90 145 1.61 55 33, 265 36.3 557, 858 80, 889 50, 207
% 21=0=40 105 155 1.48 50 32,515 35.5 308,512 47,819 32,394
B| 41=0=100 130 170 1.31 40 3,550 3.9 62,810 10, 678 8,165
[ 101=0=500 165 205 1.24 40 351 0.4 53,104 10, 886 8,762
501=Q 210 265 1.26 55 48 0.1 118,916 31,513 24,972
At - - = = 91,452 | 100.0 1,915, 868 287, 534 197, 662
FHBEEE 1.45
{55 PR Bl (F3/ i) 150. 08 103.17
FIE 150F1/miLLE | 150/ mi sk
fERAKE (m/A) [Reasms E/A) | emEms @/8) | 1828 (F/8) =
0 800 800 0 0. 0%
10 1,200 800 | 400 50. 0%
20 2, 650 1,700 | 950 55. 9%
30 4, 200 2,750 | 1,450 52. 7%
40 5, 750 3,800 | 1,950 51. 3%
50 7,450 5,100 | 2,350 46. 1%
100 15, 950 11,600 | 4, 350 37. 5%
500 97, 950 77,600 |l 20, 350 26. 2%
1,000 230, 450 182, 600 |1 47, 850 26. 2%
3,000 760, 450 602,600 | 1 157, 850 26. 2%
3,500 892, 950 707,600 |WE 1185, 350 26. 2%
5,000 1,290, 450 1,022, 600 [W 26V, 850 26. 2%
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<n§/ﬁl ) B fff B &= % fEFKE fERBHRA fERARIRA "%
(A/m) | (A/m) | (A/m) | (F/m) (53] (%) (m/A) (FM) (FA)
BEARERH 800 800 1.00 0 91, 452 - - 73,162 73,162
0=10 0 20 = 20 21,723 23.8 814, 668 16, 293 0
#| 11=0=20 90 120 1.33 30 33, 265 36.3 557, 858 66, 943 50, 207
% 21=0=40 105 130 1.24 25 32,515 35.5 308,512 40,107 32,394
B| 41=0=100 130 140 1.08 10 3,550 3.9 62,810 8,793 8,165
[ 101=0=500 165 170 1.03 5 351 0.4 53,104 9,028 8,762
501=Q 210 215 1.02 5 48 0.1 118,916 25,567 24,972
At - - = = 91,452 | 100.0 1,915, 868 239, 893 197, 662
FHBEEE 1.21
{55 PR Bl (F3/ i) 125.22 103.17
FIE 125F/mLLE | 125/ miskif
fERAKE (m/A) [Reasms E/A) | emEms @/8) | 1828 (F/8) =
0 800 800 0 0. 0%
10 1,000 800 | 200 25.0%
20 2,200 1,700 | 500 29. 4%
30 3,500 2,750 | 750 21.3%
40 4, 800 3,800 | 1,000 26. 3%
50 6, 200 5,100 | 1,100 21.16%
100 13, 200 11,600 | 1, 600 13.8%
500 81, 200 77,600 I 3, 600 4. 6%
1,000 188, 700 182,600 [I 6,100 3.3%
3,000 618, 700 602, 600 |1 16, 100 2. 7%
3,500 726, 200 707, 600 |1 18, 600 2. 6%
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(B/m) | (A/m) | (F/m) | (A/m) ) (%) (m/A) (FMH) (FMA)
EARFERAR 800 800 1.00 0 91, 452 — — 73,162 73,162
0=10 0 40 - 40 21,723 23.8 814, 668 32,587 0
£ 11=0=20 90 135 1.50 45 33, 265 36.3 557, 858 75, 311 50, 207
% 21=0=40 105 155 1.48 50 32,515 35.5 308,512 47,819 32,394
A| 41=0=100 130 190 1. 46 60 3, 550 3.9 62,810 11,934 8,165
# 101=Q0=500 165 240 1.45 75 351 0.4 53,104 12, 745 8,762
501=Q 210 305 1.45 95 48 0.1 118,916 36, 269 24,972
&it — — — — 91, 452 100.0 1,915, 868 289, 827 197, 662
FwaEEE| 1.4
{3 P B (F3/ ) 151.28 103.17
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EAkE (m/A) |seamm@/p) |semems@/8) | #%8[@/8) e
0 800 800 0 . 0%
10 1,200 800 | 400 . 0%
20 2, 550 1,700 | 850 . 0%
30 4,100 2,750 | 1, 350 1%
40 5, 650 3,800 | 1, 850 1%
50 7, 550 5,100 | 2, 450 . 0%
100 17,050 11,600 | 5, 450 . 0%
500 113, 050 77,600 [0 35, 450 1%
1,000 265, 550 182,600 |1 82, 950 4%
3,000 875, 550 602, 600 [F 272, 950 . 3%
3,500 1,028, 050 707, 600 |BE 320,1450 3%
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(A/m) | (A/m) | (A/m) | (FA/m) ) (%) (m/H) (FA) (FM)
EARFERA# 800 800 1. 00 0 91, 452 — — 73,162 73,162
Q=10 0 20 - 20 21,723 23.8 814, 668 16, 293 0
73 11=0=20 90 110 1.22 20 33, 265 36.3 557, 858 61, 364 50, 207
% 21=0=40 105 130 1.24 25 32,515 35.5 308,512 40, 107 32,394
A| 41=0=100 130 160 1.23 30 3, 550 3.9 62,810 10, 050 8, 165
# 101=Q0=500 165 200 1.21 35 351 0.4 53,104 10, 621 8,762
501=Q 210 255 1.21 45 48 0.1 118,916 30, 324 24,972
&t — — — — 91, 452 100.0 1,915, 868 241, 921 197, 662
FmEmE| 122
155 AR B4 (F3/ ) 126.27 103.17
HIE 125M/m Lk | 126/ miskiE
ERAKE (m/B) |&Eemms@/m) (aemnems /| #2358 @/8) e
0 800 800 0 0. 0%
10 1, 000 800 | 200 25.0%
20 2,100 1,700 | 400 23.5%
30 3, 400 2,750 | 650 23.6%
40 4,700 3,800 | 900 23. 1%
50 6, 300 5,100 | 1,200 23.5%
100 14, 300 11,600 | 2,700 23.3%
500 94, 300 77,600 |0 16, 700 21.15%
1,000 221, 800 182,600 [ 39, 200 21.15%
3,000 731, 800 602, 600 [ 129, 200 21.14%
3,500 859, 300 707, 600 |E 51,1700 21.14%
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FE/m) | /D | @/ | @/ | (%) (m/8) (Ga)) (FF)
E- X322k 800 800 1.00 0 91, 452 — — 73,162 73,162
0=10 0 40 - 40 21,723 23.8 814, 668 32,587 0
£ 11=0=20 90 145 1.61 55 33, 265 36.3 557, 858 80, 889 50, 207
% 21=0=40 105 160 1.52 55 32,515 35.5 308,512 49, 362 32,394
A| 41=0=100 130 185 1.42 55 3, 550 3.9 62,810 11, 620 8,165
# 101=Q0=500 165 220 1.33 55 351 0.4 53,104 11, 683 8,762
501=Q 210 265 1.26 55 48 0.1 118,916 31,513 24,972
&it — — — — 91, 452 100.0 1,915, 868 290, 816 197, 662
FwaEEE| 1.4
{3 P B (F3/ ) 151. 80 103.17
I 150/ /i 2L L | 150/ ik
ERKE (M/B) | scessme @/8) | gesmEms @/ | #25([1/8) e 3=
0 800 800 0 0. 0%
10 1, 200 800 | 400 50. 0%
20 2, 650 1,700 | 950 55. 9%
30 4,250 2,750 | 1, 500 54. 5%
40 5, 850 3,800 | 2, 050 53. 9%
50 7,700 5,100 | 2, 600 51. 0%
100 16, 950 11,600 | 5, 350 46. 1%
500 104, 950 77,600 [0 217, 350 35. 2%
1,000 2317, 450 182, 600 |1 54, 850 80. 0%
3,000 767, 450 602, 600 [= | 164, 850 27. 4%
3,500 899, 950 707, 600 [E 1192, 350 27.2%
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®@/m)) | @/m) | @/md) | @D | @b (%) (m/B) (FH) (FA)
HEARFEAR 800 800 1.00 0 91, 452 — — 73,162 73,162
Q=10 0 20 — 20 21,723 23.8 814, 668 16, 293 0
7 11=0=20 90 115 1.28 25 33, 265 36.3 557, 858 64, 154 50, 207
% 21=0=40 105 130 1.24 25 32,515 35.5 308, 512 40, 107 32,394
A| 41=0=100 130 155 1.19 25 3, 550 3.9 62,810 9, 736 8,165
# 101=0=500 165 190 1.15 25 351 0.4 53,104 10, 090 8, 762
501=Q 210 235 1.12 25 48 0.1 118,916 27,945 24,972
&&t — — — — 91, 452 100.0 1,915, 868 241, 487 197, 662
FmEmE| 122
135 P (F3/m) 126. 05 103. 17
5 125A/mielk | 125m/mi%E
ERKE (M/B) | scessme @/8) | gesmEms @/ | #25([1/8) e 3=
0 800 800 0 0. 0%
10 1,000 800 | 200 25.0%
20 2,150 1,700 | 450 26. 5%
30 3, 450 2,750 | 700 25.5%
40 4, 750 3,800 | 950 25.0%
50 6, 300 5,100 | 1, 200 23.5%
100 14, 050 11,600 | 2,450 21.11%
500 90, 050 77,600 [0 12, 450 16. 0%
1,000 207, 550 182,600 |1 24, 950 13. 7%
3,000 677,550 602,600 [ 1 74, 950 12. 4%
3,500 795, 050 707,600 |1 87, 450 12. 4%
5,000 1, 147, 550 1,022, 600 E, 124, 950 12. 2%
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